

14.

$$p(x|\alpha) = \frac{\alpha^k x^{k-1} e^{-\alpha x}}{\Gamma(k)}$$

~~$$L = \ln \prod_{i=1}^n p(x_i|\alpha)$$~~

$$L = \ln \prod_{i=1}^n p(x_i|\alpha) = \ln \prod_{i=1}^n \frac{\alpha^k x_i^{k-1} e^{-\alpha x_i}}{\Gamma(k)} =$$

~~$$= \ln \left(\frac{\alpha^k}{\Gamma(k)} \prod_{i=1}^n x_i^{k-1} e^{-\alpha x_i} \right) = \ln \left(\frac{\alpha^k}{\Gamma(k)} \right) +$$~~

$$+ \ln \left(\prod_{i=1}^n x_i^{k-1} e^{-\alpha \sum_{i=1}^n x_i} \right) = \ln \left(\frac{\alpha^k}{\Gamma(k)} \right) + \ln \left(\prod_{i=1}^n x_i^{k-1} \right) - \alpha \sum_{i=1}^n x_i$$

$$\frac{dL}{d\alpha} = \frac{k\alpha^{k-1}}{\alpha^k} - \sum_{i=1}^n x_i$$

$$\frac{dL}{d\alpha} = 0 ; \quad \frac{k\alpha^{k-1}}{\alpha^k} - \sum_{i=1}^n x_i = 0$$

$$\frac{k}{\alpha} = \sum_{i=1}^n x_i$$

$$\frac{k}{\alpha} = X \Rightarrow \alpha = \frac{k}{X}$$

$$\frac{d^2L}{d\alpha^2} = -\frac{k}{\alpha^2}$$

$$\left. \frac{d^2L}{d\alpha^2} \right|_{\alpha = \frac{k}{X}} = -\frac{k}{\frac{k^2}{X^2}} = -\frac{X^2}{k} = -\frac{\sum_{i=1}^n x_i}{k} < 0 \Rightarrow$$

$$\Rightarrow \alpha = \frac{k}{\sum_{i=1}^n x_i} - \text{maximum}$$

Ответ: $\alpha = \frac{k}{\sum_{i=1}^n x_i}$

N1.

$$C = \begin{pmatrix} 3 & -1 \\ -1 & 2 \end{pmatrix}$$

2-разбавленная

от X
от Y

$$C_{ij} = E[X_i X_j] - E[X_i]E[X_j]$$

$$E[X^2] - E[X]^2 = \sigma_x^2 = 3$$

$$E[Y^2] - E[Y]^2 = \sigma_y^2 = 2$$

$$E[XY] - E[X]E[Y] = -1$$

$$X' = X + Z$$

$$Y' = Y + Z$$

$$\Rightarrow \sigma_{x'}^2 = E[X'^2] - E[X']^2 = ?$$

$$E[X'] = E[X] + E[Z]$$

$$X'^2 = X^2 + 2XZ + Z^2$$

$$E[X'^2] = E[X^2] + 2E[XZ] + E[Z^2]$$

$$E[X']^2 = (E[X] + E[Z])^2 = E[X]^2 + 2E[X]E[Z] + E[Z]^2$$

$$\sigma_{x'}^2 = \sigma_x^2 + 2E[XZ] - 2E[X]E[Z] + \sigma_z^2$$

$$\sigma_{x'}^2 = \sigma_x^2 + 2E[X]E[Z] - 2E[X]E[Z] + \sigma_z^2 = \sigma_x^2 + \sigma_z^2$$

$$E[Y'^2] = E[Y^2] + 2E[YZ] + E[Z^2]$$

$$E[Y']^2 = E[Y]^2 + 2E[Y]E[Z] + E[Z]^2$$

$$\sigma_{y'}^2 = \sigma_y^2 + \sigma_z^2$$

$$\sigma_{x'}^2 = 3 + \sigma_z^2$$

$$\sigma_{y'}^2 = 2 + \sigma_z^2$$

$$\sigma_z^2 = E[X^2] - E[X]^2$$

$$E[Z^2] = E[X^2] + 2E[X]E[X'] + E[X'^2] - E[Y^2] - 2E[Y]E[Y'] - E[Y'^2]$$

$$E[Z]^2 = E[X]^2 - 2E[X]E[X'] + E[X'^2] = E[Y]^2 - 2E[Y]E[Y'] + E[Y'^2]$$

$$\sigma_z^2 = \sigma_x^2 + \sigma_{x'}^2 - \sigma_y^2 - \sigma_{y'}^2$$

$$\sigma_z^2 = 3 + \sigma_{x'}^2 - 2 - \sigma_{y'}^2$$

N2.

$$E[X] = E[Y] = 0$$

$$E[X^6] = \frac{5}{9}$$

$$E[Y^4] = E[X^2 Y^4] = 3$$

$$E[X] = 0$$

$$E[X^6] = \frac{5}{9}$$

$$E[X^2 Y^4] = 3$$

$$p(x) = \frac{1}{\sqrt{2\pi} b_x} e^{-\frac{x^2}{2b_x^2}}$$

$$p(y) = \frac{1}{\sqrt{2\pi} b_y} e^{-\frac{y^2}{2b_y^2}}$$

$$E[X] = 0$$

$$E[X^6] = \frac{5}{9}$$

$$E[X^6] = 15 \langle X^2 \rangle \langle X^2 \rangle \langle X^2 \rangle = \frac{5}{9}$$

$$\langle X^2 \rangle = \frac{1}{27}$$

$$E[X^6] = \frac{b_x^6}{9} = \frac{5}{9} \Rightarrow b_x^2 = \sqrt[3]{\frac{5}{9}}$$

$$E[Y^4] = 3 \langle Y^2 \rangle = 3$$

$$\langle Y^2 \rangle = 1$$

$$E[Y^4] = b_y^4 = 3 \Rightarrow b_y^2 = \sqrt{3}$$

$$b_x^2 = \frac{1}{27}$$

$$b_x^2 = E[X^2] - E[X]^2 = E[X^2] = \frac{1}{27}$$

$$b_y^2 = 1$$

$$E[Y^4] = E[Y^2] - E[Y]^2 = E[Y^2] = 3$$

$$b_x = \frac{1}{3\sqrt{3}}$$

$$\langle X^2 Y^4 \rangle = \langle X X Y Y Y Y \rangle = 3 \langle X^2 \rangle \langle Y^2 \rangle \langle Y^2 \rangle = 3$$

$$b_y = 1$$

$$3 \langle X^2 \rangle \langle Y^2 \rangle + 12 \langle X Y^2 \rangle^2 = 3$$

$$3 \langle X^2 \rangle \langle Y^2 \rangle + 4 \langle X Y^2 \rangle^2 = 1$$

$$3 \left(\frac{1}{27} \right) \cdot 3 + 4 \langle X Y^2 \rangle^2 = 1$$

$$\langle X Y^2 \rangle^2 = \frac{1}{4} \Rightarrow \langle X Y^2 \rangle = \frac{1}{2}$$